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 R = A B

 S = A̅B + AB̅ = A ⨁ B



 

 

 

 

 

 

 Si = Ai̅Bi̅Ri−1 + Ai̅BiRi−1
̅̅ ̅̅ ̅̅ + AiBi̅Ri−1

̅̅ ̅̅ ̅̅ + AiBiRi−1 = Ai⨁Bi⨁Ri−1

 Ri = Ai̅BiRi−1 + AiBi̅Ri−1 + AiBiRi−1
̅̅ ̅̅ ̅̅ + AiBiRi−1 = AiBi + Ri−1(Ai ⊕ Bi)

 

 
 

 



 

 S = A̅B + AB̅

 R = A̅B

 Si = (Ai⨁Bi) ⊕ Ri−1

 Ri = BiRi−1 + A̅iRi−1 + A̅iBi



 

 

 

 

 

 

 Ss = AB̅

 Si = A̅B

 Se = A̅B̅ + AB = A ⊕ B̅̅ ̅̅ ̅̅ ̅̅ = Ss + Si
̅̅ ̅̅ ̅̅ ̅̅ ̅



 

 

Se = a2⨁b2
̅̅ ̅̅ ̅̅ ̅̅ ̅ + a1⨁b1

̅̅ ̅̅ ̅̅ ̅̅ ̅

 

Si = a2̅̅ ̅b2 + a2⨁b2
̅̅ ̅̅ ̅̅ ̅̅ ̅. (a1̅̅̅b1)

 

Ss = a2b2
̅̅ ̅ + a2⨁b2

̅̅ ̅̅ ̅̅ ̅̅ ̅. (a1b1
̅̅ ̅)

 

 

 

S = C̅1 C̅0(E0) + C̅1C0(E1) + C1C̅0(E2) + C1C0(E3)

 



 

 S0 = C̅1C̅0(E)

 S1 = C̅1C0(E)

 S2 = C1C̅0(E)

 S3 = C1C0(E)

𝑛 ≤ 𝑚 ≤ 2𝑛

 

 

 S0 = (A̅ . B̅). EN

 S1 = (A̅ . B). EN

 S0 = (A . B̅). EN

 S0 = (A . B). EN

 



 

 A = E̅0E̅1(E2 + E3)

 B = E̅0(E1 + E̅2E3)

 G1 = B1B2
̅̅ ̅ + B1

̅̅ ̅B2 = B1⨁B2

 G2 = B2B3
̅̅ ̅ + B2

̅̅ ̅B3 = B2⨁B3

 G3 = B3B4
̅̅ ̅ + B3

̅̅ ̅B4 = B3⨁B4

 G4 = B4


